AAE Model No. CAG-NCAA
NCAA Combination Goal

®

Aluminum Athletic Equipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378

www.AAEsports.com




8 | 7 | 6 | 5 4 3 2 | 1
CAG-NCAA - NCAA Combination Goal Optional Net attatchment
Specifications design

D A 4" 0.d. x .125"wall
/ 6061T6 Aluminum Uprights
and Crossbar (Football)
21 |_8|l
C ~ 18-6 - DETAIL A
- 24'-8" -
Fl ] 3l_4|l
> r | J | I
‘ = 4" 0.d. x .226"wall u 2
6061T6 Aluminum Uprights /|
and Crossbar (Soccer) 10'-0" i B
8'-4" 8'-0" Welded Aluminum
Extrusion for
g| Ground Sleeve - 24'-0" - net attachment
Ground Level | D
L DETAILB
| |
N - 24'_4" —
I ¢ to¢
Ground Level Flush w/ Sleeve m
®
Aluminum Athletic E?uipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378
40" 36" www.AAEsports.com
A Ground " " DESCRIPTION:
49 Sleeve 46 NCAA Combination Goal
Sleeve NOTE:
Specifications
MODEL: CATEGORY: DATE:
CAG-NCAA CUSTOMER 03/13/2018
A DWN. BY: CAD FILE: DWG. NO.
CED CAG-NCAA Specifications CAG-NCAA-C-001
Copyright © 2010 Aluminum Athletic Equipment Co. 6 5 4 3 ‘ 2 ‘ 1



8 7

6

| ° v 4

CAG-NCAA - NCAA Combination Goal

Assembly Specifications

L, ®

®

@—\

W

| %

DETAIL D
DETAIL E
|,
| m
®
Aluminum Athletic E?uipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378
www.AAEsports.com
DESCRIPTION:
@—\‘ﬁ —OD CAG-NCAA - NCAA Combination Goal
NOTE:
U Assembly Specifications
MODEL: CATEGORY: DATE:
DETAIL C CAG-NCAA CUSTOMER 03/14/2018
DWN. BY: CAD FILE: DWG. NO.
CED CAG-NCAA-Specifications CAG-NCAA-C-002
Copyright © 2010 Aluminum Athletic Equipment Co. 6 5 4 3 ‘ 2 ‘ 1




8 ‘ 7 | 6 5 . 4 3 2 1
Iltem No. [Part No. Description Qty.
1|Side Round Post |SGR Series, Goal Post, 92" Lg. 2
2|Soccer Crossbar |SGR-P, Goal Mouth,24'-0" Crossbar with welded Football Crossbar 1
3|Football Crossbar 4" aluminum crossbar with welded 4" side tubes and 3.7" welded inserts 1
4|Football Upright [4"dia. x 0.125"wall aluminum upright, 20'-0" Lg. 2
5|Ground Sleeve 40" Lg. 2
6/Small Loop Stay |SGR Series, Small International Loop Stay 2
7138 3/8 Reg L/W, 18.8 Stainless Steel 12
8[3_8-16 Bolt 3/8"-16 x 2-1/2" Hex Bolt, SS 8
9(3_8-16 Bolt 3/8"-16 x 1-3/4" Hex Bolt, SS 4
10|3_8-16 Bolt 3/8"-16 x 1/2" Hex Bolt, SS 8
11(1 2-13 Bolt 1/2"-13 x 5" L, Bolt, Stainless Steel 6
12(90715A165 1/2"-13, Hex Nut, w/ Ny-Lock Insert 6
13|1_2 Loc Washer [1/2", Loc Washer, Stainless Steel 4
14|1 2 Washer 1/2" Screw Size, Flat Washer, Stainless Steel 8
15|Extrusion 24'-0" Lg. Aluminum Extrusion 1
16|Extrusion 6'-3" Lg. Aluminum Extrusion 2

Aluminum Athletic Equipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378

www.AAEsports.com

DESCRIPTION:

CAG-NCAA - Parts List

NOTE:

Bill of Materials

MODEL:

CAG-NCAA

CATEGORY:

CUSTOMER

DATE:

03/14/2018

DWN. BY: CAD FILE:

CED

CAG-NCAA - Specifications

DWG.

[0)

CAG-NCAA-C-003

Copyright © 2010 Aluminum Athletic Equipment Co.

3 [

2 [

1




	Title Page
	Drawing View1

	CAG-NCAA-C-001
	Drawing View2
	Drawing View3
	Detail View A (1 : 10)
	Drawing View6
	Drawing View7
	Drawing View8
	Detail View B (1 : 3)

	Assembly Page
	Drawing View11
	Detail View C (1 : 20)
	Detail View D (1 : 6)
	Detail View E (1 : 15)

	Parts List

